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QUESTION 1

A network engineer is configuring a Cisco MDS switch for FCoE. Which two conditions must be considered during the
implementation phase? (Choose two.) 

A. On Cisco MDS switches, system-defined class maps for class-FCoE and class-default are enabled but can be
deleted. 

B. The QoS policy must be identical to other Cisco FCoE switches in the network. 

C. On the Cisco MDS, the MTU is set equal to 2112. 

D. VLAN 1 or the native VLAN can be mapped to an FCoE VSAN. 

E. FCoE is already enabled on a Cisco MDS switch. 

Correct Answer: BE 

 

QUESTION 2

Which result occurs when a VSAN is deleted that contains non-trunking ports? 

A. The ports are moved to VSAN 4094. 

B. The ports are moved to VSAN 1. 

C. The ports are removed from the configuration. 

D. The port configurations are cleared. 

Correct Answer: A 

 

QUESTION 3

A storage network engineer is implementing disk-array data replication between two SAN environments in two different
data centers not connected via Fibre Channel. Which SAN switch feature must be implemented? 

A. FCIP 

B. zoning merge over LAN 

C. VSAN scoping 

D. IVR 

Correct Answer: A 

 

QUESTION 4
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A network engineer must run a core Cisco Nexus 9500 Series Switch as a POAP server for all top-of-rack Cisco Nexus
switches. Which two network functions must run to provide the POAP service? (Choose two.) 

A. DNS 

B. PXE 

C. BOOTP 

D. TFTP 

E. DHCP 

Correct Answer: DE 

 

QUESTION 5

A Cisco MDS Series Switch with the POAP feature boots and does not find the startup configuration. Which location is
checked first when the switch enters POAP mode? 

A. USB device that contains the software image files and the switch configuration file 

B. DHCP server to bootstrap the interface IP address, gateway, DNS server, and TFTP IP addresses 

C. TFTP server where the necessary configuration files are downloaded 

D. HTTP server where the URL is used to download the software image 

Correct Answer: A 
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